High Score Exam Master

Answer key


High Score 3: Level 3: Unit 6 Test 
Reading

1

1c 
2

1 Because they had two babies.

2 They argue about the usual things that brothers argue about. For example, one brother wants the toy that the other brother has.

3 Because this is what the medical books say.

4 Because he didn’t want to wear the first jacket and it was cold.

5 They felt happy because they looked the same again.

6 Only they could understand it.

7 They have become more independent, but they are still very close.

8 Because they went shopping separately.

Listening
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